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Dear Panel Members:

The present tax system was instituted in 1913 and at the time it was only 1% of the income of the very rich. As time went on the income tax was always designed to be progressive in nature, taxing higher incomes at higher marginal rates. In order to be really fair an income tax should be progressive, taxing higher incomes at marginally higher rates. 

The rational for doing this is based on the marginal utility value of the dollar to higher income recipients.  It is understood that higher income people receive income from investments like interest, dividends and rents and this income is considered unearned income because no labor was necessary to entitle the person to that income. Unearned income is different from earned income that is received as wages salaries and tips earned by actually having to provide a human service for an employer.  It is assumed that most income over the median income is unearned income therefore it can be taxed at a marginally higher rate than earned income without doing any harm to the taxpayer. 

It is the taxpayer who actually works to earn his income that is harmed the most by the present system.  Let me give you my personal example. I started working for General Motors in 1962 and the wage I was starting at was $2.62 per hour.  The standard contracts negotiated by the UAW every three years generally resulted in a predictable pattern. We received and annual wage increase of 3% each year plus a cost of living increase to maintain the purchasing power of the money they paid us in. By 1965, I decided to get married and at the time my income would have been enough to support a wife and family on my income alone. Soon after we married there began a long period of inflation which kept housing prices just out of our reach. We were just not able to save enough for the down payment on a house. Each year as inflation and the annual improvement factor increased my income and then the income of my wife who now had to return to the work force, we began to find ourselves in the marginally higher tax brackets resulting in having to pay more federal income taxes.  My real income was not rising but my taxes were. We all know that to be a period of bracket creep. At the same time the deductions for children did not keep pace either at $600.00 per child. The child deduction today if it had kept pace with inflation should be $8,000.00 per child.

The problem at the time I thought was that the income brackets for tax purposes were not adjusted for inflation.  If the size of the marginal tax brackets had been expanded to adjust for inflation the progressive nature of the tax code could have been preserved without distorting anything at all. Since this did not happen, many other tax reform measures were put in place that only made matters worse by adding new tax credits and deductions and income shelters that only served to help the rich get richer but doing nothing to help the average wage earner. Since that time there have been more attempts to reform the system to eliminate the higher marginal brackets and reduce the rates for each of these brackets.  I think this has been a big mistake because it gradually removes the progressivism of the income tax, which is an essential feature of it that makes it a fair tax. The flatter the tax on all people the more the tax burden falls on the people who work for their money and shifts it off the people who receive income on investments and do not really work. It is the people who do work each day that actually create the wealth of a nation.

A flat tax on all incomes from all people sounds fair to many people but is really regressive. Why a flat tax is regressive is because of the concept of the marginal utility value of the dollar. People who work are probably not able to earn, by working alone, more than $100,000.00 -$200,000.00 annually. Anyone earning less than that are the people who do all the real work in the economy. The problem is that in order to do that work they need the capital to work with and the people who own and control that capital take most of the income from that labor. It is the owners and investors in the nations wealth that collect the lion’s share of the national wealth. The income disparity between the highest paid people and the lowest paid workers in this economy has grown greater each year. Some people may think that the CEO’s of major companies deserve the high salaries and benefits they receive but most people who work for a living do not think so. The most blatant example’s of this is the incomes of the people who own and manage Wal-Mart Corporation.  

The issue we are dealing with when it comes to tax policy is not how much money people get for income but what they were required to do to earn it. To tax people is to work people. People tax themselves to do work to earn a living wage if they can and the government takes some of that money away from them, but if a person can collect an income and not really have to exert himself proportionately to the money he collects, he did not really earn it and that is why it is unearned income. This unearned income should be taxed at a much higher rate to create tax equity with the people who do the work to make society function. There is a big difference between the incomes of the people who work for Wal-Mart and the people who own and manage Wal-Mart.  The people who work for Wal-Mart cannot even earn a living wage and have to be subsidized by the rest of us tax payers other than the people who own and manage that company. It is not just the workers of Wal-Mart we are subsidizing it is the owners and managers we are subsidizing.

If your panel is really serious about reforming the income tax code there are two directions that can be chosen. One direction is to return to a more progressive system of higher marginal rates but increase the size of the tax brackets substantially and reduce the rates on each of these brackets so that as a practical reality the revenues to the government are revenue neutral. We could restore the 90% marginal rate but make the brackets so wide that practically no one would ever earn enough to get to that bracket. The size of the income brackets should then be adjusted every year or every five years to inflation so the higher marginal rats do not act as a break on the economy and take more money out of the economy than absolutely necessary to run the government on.

I believe any move to abolish the progressive income tax and replace it with a flat tax or a value added tax or a national sales or consumption tax would also be too regressive and cause the burden of government finance to fall too heavily on the poor and working people. This leads me to a second option, which is to abolish the income tax altogether and repeal the 16th amendment to the constitution and return federal financing to those means provided by the original constitution, which is an indirect proportional tax levied on the states.

I know this sounds like a radical idea but it is based on sound constitutional principles. The federal government was set up as a Federal Republic of States not a People’s Democracy. That is why no direct taxation was called for in the constitution. The passing of the 16th Amendment changed all that and allowed the federal government to get too big and powerful. By repealing the 16th amendment and returning to a constitutional tax, levied on the states proportionately to the population, things would be restored to proper proportions. 

The question would now be asked how would the states raise the money to pay the federal government? The answer would be that the states could levy a tax on all the land owned by people in each of the states. Currently people pay a real estate tax, which includes a mil rate on the land portion of their real estate as well as the buildings. All the States would have to do is levy a tax on the land only portion of the assessed value of the land a person owned.  This would be a mil rate on the land only based on the local evaluations of the assessed value of the property they own minus the value of all buildings and improvements. 

An alternative plan would be for the Federal Government to directly assess the value of all the land in the country by a common standard and charge a certain mil rate on all the land owned privately by any individual or corporation.  This single tax on land would have to be calculated to be revenue neutral and totally and forever, replace the federal income tax and repeal the 16th amendment. 

Thank you for this opportunity to share my thoughts with you on this very important matter.    

Respectfully submitted  
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